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QUESTION 1

An operator must deploy three virtual machines from a template named Win10-Template, and all three VMs must be
configured with unique computer names. 

Which action must the operator take to achieve this goal? 

A. Clone Win10-Template three times, and then change the computer name in each clone. 

B. Export Win10-Template to the local filesystem, and then change the computer name. 

C. Use a Windows 10 customization specification when deploying the virtual machines. 

D. Create the virtual machines using the New virtual Machine wizard. 

Correct Answer: C 

 

QUESTION 2

Which configuration setting ensures that virtual networks on a virtual switch are isolated from each other? 

A. Port ID 

B. Network Label 

C. Security Policy 

D. VLAN ID 

Correct Answer: D 

 

QUESTION 3

Refer to the exhibit: 

Which piece of information should a vSphere operator conclude about iSCSI-01? 

A. The datastore failed because it reached its capacity limit. 
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B. The datastore does not have any free capacity. 

C. The disk usage on the datastore is above 75%. 

D. The datastore usage on disk was reset to green. 

Correct Answer: C 

 

QUESTION 4

An administrator is migrating 100 virtual machines from one ESXi Host to another. The current lGigE network cards are
only migrating four virtual machines simultaneously. 

Which action should the administrator take to increase that number to eight? 

A. Add more memory to the ESXI hosts 

B. Add a 10GigE network card to each ESXI host 

C. Configure port mirroring 

D. Configure Load Balancing 

Correct Answer: B 

 

QUESTION 5

Which DRS score indicates that the virtual machine (VM) is experiencing severe resource contention? 

A. 50% 

B. 95% 

C. 70% 

D. 15% 

Correct Answer: D 
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